
1 
 

  fy;tp mikr;R   
 

 

 

 

 

 

 re;ijg;gLj;jy; jpl;lk;  
 

gFjp 1   

 

 

 

 

 

 

 

gFjp 2   

1) Nff; tif ehnshd;Wf;fhd Nfs;tp (Kg) khjnkhd;wpw;fhd Nfs;tp(kg) 

ntdpyh  200     200 x 30 = 6 000 

nrhfyl;  100     100 x 30 = 3 000 

goq;fs;  50     50 x 30   = 1 500 

 

2) Nff; tif  khjnkhd;;Wf;fhd tUlnkhd;;Wf;fhd tUlnkhd;;Wf;fhd 

Nfs;tp (Kg)  Nfs;tp (Kg)  ngWkjp (&) 

ntdpyh  6 000    72 000   21 600 000 

nrhfyl;   3 000    36 000   12 600 000 

goq;fs;  1 500    18 000   8 100 000 

3) rkjuh tzpfj;jpd; tpw;gid vjph;T$wy; jpl;lk; 
 

Nff; tif     10% Njitapd;        tUlje;j 
ngWkjp &. tpw;gid vjph;T$wy; (&.) 

ntdpyh    21 600 000 x10%  2 160 000   

nrhfyl;    12 600 000 x10%  1 260 000 

goq;fs;       8 100 000 x 10%  810 000 

 

1.  
2.  

3.  
4.  

5.  
6.  

7.  
8.  

Kaw;rpahz;ikf;fy;tp 
myF uPjpahd kPl;ly; nrayl;il tpilfs; 

juk; 11 
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4) &. 600 000 
 

5) tUlnkhd;wpf;fhd KO re;ijg;gLj;jy; nryT 
tUlnkhd;wpf;fhd 
re;ijg;gLj;jy; nryT 

            &gh 
Copau; rk;gsk;    &. 10 000 x12       120 000 

re;ijg;gLj;jy; Nkk;gLj;jy; nryT  &.    7 000x12      84 000 

vupnghUs; kw;Wk; Nrit    &.    8 000x12       96 000 

Nkhl;lhu; thfdj; Nja;T   600 000x 10%     60 000 

                  360 000 
  


